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QL In the given figure find the angle of

LABC.
f2v e A3 A LABC &1 # 1A Ara HifAe)

Maths By Pradeep Sir




Maths By Pradeep Sir

Q2. In the given figure, what is the value of
LI L24 LIV LAV L5 =7
&1 78 PIA H, L1422+ 23424+ .5 B FTa T

g?

(C) 360 (D) 450
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Q3. In the given figure, £.BAC = 70°, £LACB =

45° and 4DEA = 140°. What is the value of
LBDE?

& of anpfad A, LBAC = 70°, LACB = 45° el
.DEA =140° 21 2BDE &1 HTa AT 22

(A)10° (B) 15°
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Q4. In the given figure, EF = CE = CA, What is
the value of LEAC?

2t og AEF=CE=CAZL @ LEAC &
HAlel a1 :

A) 58°

(B)64°
C)72°

G | E T (D) 32°

3\@6/>\ 20 =96

D - %

i 4

YR o ) (,’;




QS. In a given figure, If AD = DE = EC = BC

thencA:«B=7?
RemefdmfadAaR Ap=DE=eCc=BCc A
LA : 2B &1 ATHA 1 EPN?

[ J@a:s

FER (D)1:2
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Q6. 2 sides of triangle are of 4 cm and 10 cm.

b , |o -, If 3rd side is length of 'a cm then which is
correct value for a.
—— gaﬁajaf:f;} 433:%3&! lo.ﬁ?g.ma'ig
Fa Ch Mo Sa-m A AN L ? ST
(A)a>5 (B)6sas12




M.i"h\ 8" p!.l(’(’(‘[i S ' -

,‘ Q7. In a triangle ABC, O is any point inside
the triangle then which one of the following
.- is correct?
, Ry asc i SR A= A A
e . SRS YATAL?
:S:; 2(0A+0B+0C)>(AB+BC +CA)
m@, A R x (OA+0B+0C) < (AB+BC+CA)
e AC) 2(AB+BC +CA) > (OA+ 0B + 0OC)
[As] +led > AC (D) (AB+BC +CA) > (OA+ OB + OC)
@+ oc| ) KC
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Q8. ABCD is a quadrilateral AC and BD are
its diagonals then which one of the
following is correct?

ABCD US t 32 Ac Jan BD A |
mt,mgﬁﬁﬁmsmmg*

sA; éAaosco CD+ DAg » (AC +BD)
B) (AB+BC+CD +DA) < 2(AC +BD)

(C)BothAandB /2T A 328
(D) None of these | 3T & &8 gl
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a +b >c” /) Q9. The 3 sides of an acute angled triangle
; .7 are 15,17 and x cm. if x is an integer then

Is. 17, x how many such trian%n are possible ?
) e »_ o (& g w2 diat afore 15 AL, 17
‘S*I.l)f}l memg' !mmzmmm

225 3 > 219 [ 137428 ) . R Hara T

L .
x /C\‘ t;/'1 ))2'

(C) 29 (D) 15

[% <; <<131

R -R-~
]




Maths By Pradeep Sit i .

Q10. if the perimeter of a triangle with
integer sides is 32, what is the largest
possible length of the longest side?

A +b+c: 3 af2 faéh AT AT fRa(w &1 ufeanTy 32

¢ A TR aft oM 1 FHara AT A EM ?
L L‘J > w- () & N, (D)18
| ~ ‘\
__J — (k)



Arb = 2\ Q12. if a and b are the lengths of two sides of
a triangle such that the product ab = 24,

where a and b are integers, the how many
Rt A ’ Jdri? | 3«8 [yx¢ such triangles are possible?

Maths By Pradeep Sii

af? o 32 b faf FAag &t 2 st 35 ware ¥
J":' e AN T | FT O ﬁ“’b:“'?ﬁ" bwmz'mm
= || 2S5 2 5 > 3 ) mﬁqaamt?

(A)12 ()18

AT
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Q13. Which of the following represents the
sides of an acute angled triangle?

fsst & & Saa, vas ga S R &

afon3iY @t zerfan ¥
.
1,8,10 = l‘1‘1 4-Cy> 100 (A)’G;G,W‘ (8) 7,8,10
Thas ‘,N/ ((c) 5,12,13 j (D) None of these



Q4. Two sides of a triangle are 12 cm and 15
cm long and the third side is integer, then
what is the largest value of third side for
which tri- angle is acute.

fésaft 2 2 oot 12 AM. Fem 15 At B

b an
s A e o b Pt

(A) 17 ()18

- (D) 20
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Q15. Which of the following combination of
a +b 2C sides results in the formation of obtuse
angled triangle?

B Ay & sa A ool &
Q +bE= fRsefafaa daaa A saam daAa afdi g 2

aA“+p Ce*
(D) None of these

XS+ <\

1L+ ¢S

(1 £¢
\/‘1\(36 o~

F
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Q15. Which of the following combination of
sides results in the formation of obtuse
angled triangle?

B Ay & e H oonl &
fRsafafaa @atds A e T adi 2 2

(A)6,7,13 (B)S5,6,8

(C)4,5,6 (D) None of these
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Ql6. In an obtuse angle triangle the length
of side opposite to obtuse angle is K cm and
length of remaining two sides is 12 cm and
17 cm. how any such triangle are possible ?

S s S R A ufds Ho & Araa 6
;Tﬂgzbﬁ AET T 3T A o 12 At 3z 17
|

s Hara 2
(A)7 (B) 8
(C)e (D) 10


















![61c= q°+ Tz

LATc ‘70-}-%9

. et
9
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4 Q17. In AABC, <A = 68°. Iif | is the incentre of
/\ the triangle, then the measure of BIC is:
/ca \ AABC # <A = 68° 21 a2 | Ram @1 sa Bz ¢, A
/ A u‘%) ¢BIC & HIY F1a S
/ \ W+ F
" (A)124° | () 68°

. |
% h - (C)148° ‘ (D) 54°

C{() -TM D A\
p— /{J)
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QI18. If one of the angle of a triangle is 64°,
A- — then the angle between the bisectors of the

Eo + % } other two interior angles is:
af? &t R & AAUvEH 64° ¢, A 3
%«m & Fafgenas & dta & S

. ( .|
(A) 100 (B) 122° |
o < (c)9e° (D) n2°

?0+3d =) \QQ
_~——



Maths By Pradeep Sir 1 B

Q19. In the given figure, the angle bisectors
.~ of B and C of an isosceles triangle intersect

— 7 at point O. Find the angle BOC (in degree),
1o 4 - when £tABC = LtACB = 75°
SIHUIBAHRC

amma,mag
x asaafamoﬁ;r%uz €1 ST BOC &1
?’Ta(ﬁmmm

2L

, Ad LABC = LACB = 75°

.
’
|

& (A)ws | (B)147.5

To 415 5 1o (€)180 (D) 170

——
-



Maths By Pradeep Sii

Q20. In a AABC, the bisectors of 4B and C

meet at O. If £.BOC = 142° then the measure
of LAls:

AABC & B 3 ¢ & Faffanors flse w2 fA=A
tluﬁ¢aoc=142°t’a}mmm?:§raasil

(A) 52° (B) 68°
el [ (od10a-(
e Ay




Q21. In AABC, AB and AC are produced to

I A points D and E, respectively. If the bisectors

@0t 5 of .CBD and BCE meet at the point O and
<BOC = 57°, then £A is equal to:

AABC &, AB 31T AC &) BHe: AZ D W E TS

g wrar g1 af? .ceD (BCE &

Fafgenors g w2 A=a §, s .Boc = 57° ¢,

Maths By Pradeep Sit

A LA &1 ATA FATd He

(a) 93° (B) 57°
*“ 1 $7 -To- E-;j

(D) N4°
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Q22. In APQR, PS is the internal bisector of 4P
meeting Qrats, PQ=16cm,PR=22.4cmand
QR = 9.6 cm. The length of SR (in cm) is:
APQR &, PS, S T2 QR & AR TTHT P &I
Miafes fGamas 2, PQ = 16 cm, PR = 22.4 cm

- ﬁ — R 3#2Ql:=9.6cm2l8ﬂﬁﬁ'ﬂf(cmﬂ)m

o (A) 5.6 2l (B) 4.4

e S (c) 4 (1’1 :;‘-r (D) 6
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Q23. In AABC with sides 6 cm, 7cm and 8cm,
the angle bisector of the largest angle
divides the opposite side into two
segments. What is the length of the shorter
segment?

AABC &t owiTe 6 Aafl., 7 A, 3z 8 AA.
Jaa a3 &1 FAMGATAS ATHSA aATA! AT
~ @2 N A Ranfa Hzan 1 B2 &g &1 Harg

2% 23 Rsaaft 2 2
Ao - ?3 c Y(:EA/S (B) 21/5
c) ashF D) 56/13
L_)‘: e (D)
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Q24. In a triangle ABC, D is a point on BC
such that % = %. if £zB = 68° and 4C = 52°,
then measure of £.BAD is equal to:

fRaft ABC 3 D 3o BC vH PN fAg R 1 2% =
%9 af? .8 = 68° T 2C = 52° A LBAD &1 AT

2>
(A) 60° \{\‘% B " [;(E) 30‘]

A\ —

(D) 40°
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Q25. In AABC, AD the bisector of LA, meets
BCatD.ifBC =a, AC =band AB = ¢, then BD
-DC =

AABC &, LA &1 FARHTAS AD £ Wit BC S D
wfAsarziaffkec=a AC=b3AB=cE @
BD - DC fAsafafaa # A fFasd aTraz g ?

ac alc+b)
(A) b+c (B) c-b
oM A d{ 7 S
o A (c-b ( a(c-b) a_b
C+b (f) L+ (D) b+c
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Q26. In AABC, D is a point on BC such that
AD is the bisector of £A, AB=1.7cm, AC =
7.8 cm and BC 13 cm. What is the length (in
cm)ofDC?

AABC # D, BC U2 U 2 fAg ¢ & AD, A &1
HARHTAS £, AB = 1.7 A, AC = 7.8 A 32
BC=133M2 AocH Farf (AM A a2

SA) 5.9 TP (B) 7.8

(c) s.ﬂ X & (D) 6.5
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P :
4} [18°] Q27. PQR is a triangle, whose area is 180
olo cm?. S is a point on side QR, such that PS is
e 3 the angle bisector of 2QPR. If PQ: PR = 2: 3,

then what is the area (in cm(B) triangle
PSR?
. » PQRUS s ¢, asT 7% 180 A= 21 s,

S

Q 5 3 g R U2 TS gA USR ¢ & Ps, QPR TR
?amtl PQ:PR =2:3 ¢ &l R
2 PSR &1 SIa%e (Afl.) Aam 2 ?
._’s:x‘s (A) 90 lﬂm

< (o8 (C)144 D
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Q28. The perimeter of AABC is 24 cm and its
side, BC = 9 cm. AD is the bisector of £BAC
while | is the incentre. Al: ID is equal to -

aABC &1 ulRfATA 24 Aaft § 3z 358 o BC =
9 At 21 .BAC &1 FARaTE AD B, Tald |
3a: Hog 21 A1 1D TR B-
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| /éf] Q29. In the given figure, ABC is a triangle.
The bisectors of internal 4B and external <C
intersect at D. If 4BDC = 48°, then what is
thc value (in degrees) of £A?
?Aacwﬁaﬁtl (B &1
ura—cffiai aen «c & ag fRanmas fdg o W@
uﬁiﬁzmtluﬁmoc = 48° ¢, @ A &
et (Rt &) s 22
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Q30. In a triangle ABC, AB: AC 5:2.BC =9
cm. BA is produced to D, and the bisector of
the Angle CAD meets BC produced at E.
What is the length (in cm) of CE?
fAs(c1 ABC A AB: AC = 5:2, BC = 9 cm £1 BA
& D dF TSI ATAT § T ST CAD &I

oI ae1E 918 BC & £ W fAaan 21 ce i
5aTS (ecm ) F1a &2

(A) 6 OF

(C)1w0 (D) 3
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Q31 In AABC, 4B = 72° and «4C= 44°, Side BC
iIs produced to D. The bisectors of 4B and
LACD meet at E. What is the measure of
LBEC?

AABC &, 4B = 72° 3 .C= 44° 81 3fw11 BC, fAey
D d& ag1E TArdl 21 «B MR .ACD & fRamors
R e AL Bec AT TNE ?

Cy (A) 58° (B) 46°

E- LA



Q32. if the altitudes of a triangle be 3,4,6
find its in rodius

Maths By Pradeep Sii

y e & &3 3,4,6 21 A 38 o #I
. = mqaﬁ%masm -

(C)e/7 (D) 5/4
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Q33. If the given figure point | is the incenter

of AABC then find EC.
fee e fara & af? 1, AABC &1 ea: $g £ A EC

& sFard sira HifAve)
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Q34. If the given figure CE - BC = 6 then find

,'v -%f: . CB:] the value of BE.
. S fRe are f@a & afk ce-BC = 6 ¢ A B & Faard
Jita HifAv)

X4 € [ (A) 12

CC -Be = ¢ e v B)18
E-x=€ ¢ x~+¢ 1(C) 30
[ CE= ue]

“%(p)e
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Li‘f : 35. Re e A7 ;A LBAC = 120° R AD, LBAC &1
' e @ FARamares ¢ 1 af 287 - 3R

- BD E
A0 A 1o LEDC = £ECD &, @ 2B &1 #1a1 5i1a HifAe)
& 320, (A) 40
“|BJ20
N (C) 60
AP _g») (D) 80
S s 4
— s— A AR 2 Bui ‘
_ﬂl:ﬁ - BD _ ra——
Pe £< ‘Nptyh A £ x4 ' —_—
&C o - f;::"“’f A »_Fr(P.)
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,- B. &> 36. If the following figure, AD bisects angle
/atalRe > BAC. Find the length of BD.

/ f@sst ngpfd A AD &1 BAC & FaAGanfaAa
6/ | “Z-y  wzan g1 8o & srd sma Hifoe
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A res *
| v £ ;f’ sp g_g 37. What is the inradius of the a triangle
o . | = A whose

- b)) gide are13, 14, 15.
S : ‘ﬁ%’?f‘j 3y U R & i@ A sma &2, ok 356!

2 - .
51 o{ATE WAL 13, 14 31215 2
) A)S5
j**&«ﬁ\
y—
);9"\!&}1}713 o g (€)3
e 2 — (D)a
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38. PQR is an isosceles triangle with sides
PQ=PR=45cmand QR=72cm. PN is a

median to base QR. What will be the length
(incm) of PN?

" PQR @Afarg e § e ol pQ = PR =
45 A.3M. aen Qaﬂz aM. 21PN mug%n $l

et 21 PN ST HFag (A3 A) & ?
(“**S (A) 36

: 4
D) 32
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K‘) ¥ 39.Ina AABC, the sidesare AB=16cm, AC =

b 63 cm, BC = 65 cm, From A, a straight line

“ NS AM is drawn up to the midpoint M of side
BC. Then the length of AM is equal to:

¢ AABC & AT AB =16 cm, AC = 63 cm, BC =

L 65cm2IARA BC & 7ty g M & S

8, 3 TS T AM ardt 21 Am & SFard aerae

. +oCM

| - C)23.5cm
A (3 D) 31.5¢cm

1

:
;
:
:




LN 3 ,)J / 40. G is the centroid of the triangle ABC,
- where AB, BCand CAare7cm, 2d cm and
25 cm respectively, then BG is:
ﬁagaAacmmst Iu&! ofATE AB, BC
WCA odel: 7cm, 24cm M2 25 cm tl BG b1

Maths By Pradeep Sii
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41.In A ABC which is right angle at A and BC

thonCMwillbo
ABCH M amassvffag sifAad sc = 5
aaft. 2, 2 nfedrasre B aen om ¥ azegane, afd

BL ’:’M.ta}(,mﬁmﬁm?ﬂz‘hﬁ?

(C) lO\ZM ™
(D) 45 A, " 3




-

42. PQR is a triangle such that PQ = PR. RS
and QT are the median to the sides PQ and
PR respectively. If the medians RS and QT
inter- sect at right angle, then what is the
value of (PQ/QR)??

PQR 38 USTZ &1 US A9 ¢ f& PQ = PR RIRS
a1 QT wA2!: AT PQ AT PR YT AIEAHIC ¢
af? feASIC RS dAT QT HASBIV U2 wfdwdz
¢ S g A (PQ/QR):BIATA T ?

Maths By Pradeep Sit

| fP@‘-PP.)
C)2 B

(D) None of these
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43. G is controid of given AABC.GN = 4 cm,

f_/‘ GM 3 cm, £BGA 90°, then find the length of
@ i@ ", f&z) I fAA ABC &1 m 216N = 4 A3t
AR |6 ) = 3 @M. FeM ,BGA = 90° 2, @t GC B
@ ' sout 2 OO ?
/>, <\ (A)sem.
a = (Cc)S5cm. A
(B) 10 cm.
v D)9cm. ‘
‘@ . T
> -
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44. In AABC, the medians AD, BE and CF at
G. then whichof the following is correct ?
AABC & J1eTa&® AD, BE 312 CF adfd ¢ U2

gt A Aaamaldle

B » (AB+BC + AC)

& ~.(D) 4(AD +BE+CF)>3(AB+BC +AC
6 D -

3(‘*8*6(»\({\)(\4&‘\) +RBE + ¢ ()

§A; AD + BE + CF )SAB+ BC + AC)

2(AD + BE + CF
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45. Consider the following statements:

1) The perimeter of a triangle is greater than

the sum of its three medinas.

2) In any triangle ABC, if D is any point on BC, then
AB+BC+ CA » 2AD.

Which of the above statements is/are correct?
fRsafa3fada suat gz fFar $ifdv:

lt%zlﬁﬁ & affag 3 fia afdsd & ares

ﬂr!a“fgqanci aRecmEERATO L, A AB+8BC
oCA » 2AD BT 21

(A) 1only

(B) 2 only

(C)Bothland 2

(D) Neither 1 nor 2




47. In AABC, the medians AD, BE and CF
meet at O. f AD, BE, CF are 10, 24, 26 cm.

o e B o - then find the area of AABC. .
5" JSmem-m)(sn ) mHABC A AD, BE 312 CF FIfed®TC G2 fAed 2
AD, BE, CF 10, 24, 26 &3ft &) @t AABC &1

| 34T

E M

1 ' A fr - I'f“..y L TN 2 y ? -
’\l f (j . ')(

Maths By Pradeep Sii

‘ < 1 (B)wsO
F ot - (C) 80 3 -
‘if M|L+m-}; m;; | (D)|7o f""a‘.'}\() 4 oy
// ' e —
1," A'% . ?.3 » Miyvana 1'} Y:) \ Lol
1
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48. In the given figure G is centroid of AABC
o0 and BG= 13, GC = 9, BC = 5 then find the
value of AG?

@#od snpfa A 6, A ABC BT &z ¢ WTBG =13,
GC = 9. BC =10 £ @ AG &1 11 Aita HifAv)

‘SA;2O \

C)15
® ’%o; 18

\ - p- 4

B +iact = A X+ Pt 3 -
I(q = A - e



49. In the triangle ABC side BC is 10 cm and
G is centroid. BE and CF are medians to the
sides AC and AB respectively. If medians BE
and CF intersect at right angle then find the
' length of AG?
AABC & @1 BC = 10 A, 3T ¢ Hog® 21 BE
T CF HAeL: HTATHT AC 32 AB U2 FIfeASTE )
y af? sfedse e W cF FASIUT W2 ufdwdz
aszz-ﬁ £ @ oo Ac & FFard Ara S

(D) 20

Maths By Pradeep Sit
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| RN <
/® P
2 _|
O /// ’

50. G is the centroid of APQR and medians

QT and PS intersect at right angle. If QT = 27

and PS = 18 then find the length of RT?

fA3(c PQR &1 Faua 6 ¢ AW AfeAST QT A2

PS Ud- T & FAsIvl g ufdedez st 8 afd
(3 Qr=27 Mz Ps =18 L A RT H Faart A1a A

=

|8
3 =6










A\OXo D= BoR6E = Cowof

Fi !é?ﬁ ADY0 < Be yoE - (ayod


















(RSc=2¢n
[ASE =R
LA ~ L«
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55. O is circumcentre of AABC if 4BAC = 85°
2BCA =80°find 2 OAC.
AABC &19f’&sw 0 213 LBAC = 85°, .BCA =

80° d LOAC 2-
| ~ (a)s0° j (B) 75°
. *« (c)80° (D) 30°

D+ +30= 180

EO =z Q¢ /ﬂ 2o = ISV
—eg ®: 3¢
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56. If O is circumcentre of AABC and 4BAC =
58° then find the value of £ OBC?

af? s A ABC &1 URR&ss O € a1 LBAC =
58° dd LOBC BT HATA T ?

(A) 29°

(C) 48°
(D) 58°
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57.Ina A PQR,.2Q = 60°, PR = 14V6 cm. find the

o circumradius of triangle PQR.
A1 2 PQRA LQ = 60", PR = 146 AM E, R

POR&BAFAFESI AN a2
K (A)7\7cm
'(’ % _ o J:—Z—:@ (B) 7V3 cm
o ia“:\& B (©)7Veem
3
. 4 Y13
R —
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58. Find the distance between incentre and
cir- cumcenter of a triangle whose sides

are6.8and10cm?

T I I
(A)\VS
(B)v6
(C) 22

(D)7
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60.Ina AABC, AB=17.5cm AC =9 cm. Lets
D be a point on BC such that AD is
perpendicular to BC. if AD= 3cm. Then what
is the ratius of the circle circumscribing the
AABC?

AABCHAB =175 @aft, AC = 9 A3fl AT BC W
pfAgzavsrEf@ Ap1scaR Ap3 @M T A

= AABC & ufR&ey &I A sita &2

2(:; 13.125
D) None of these

S
—y d6aAs
°<
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6. What is the maximum number of
circum-circles that a triangle can have?

vH Ao & fts A yfds fFaa ulga 2
mz?

)

lc)

c)3

(D) Infinite / 3&a
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A 62. O is orthocentre of AABC if 4BOC = 120°
find 4BAC
o fAs{e1 ABC &1 &3a & 21 Al LBOC = 120°,

. al .BAC 2- A
(A) 135°
&
Boc = 136 d
B -
P/r'}/ 'r_(.r) -0 R
| ot () '-A!/ ¢ 'A.
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63. In a obtuse angled AABC, <A is obtuse
and O is orthocentre. If £ZBOC = 54° then find
(BAC.

s dfdssivfia R asc # A fds Hhor @

R IHSH HFadow 1 agaane, AR LBOC = 54°

2. @ .BAC faan gom ?
C)136 Q
(D) N6
_ | 80 @
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64. If the altitudes of atraingles are 3,4.6.
Find the ratio of its sides.

faseft Ao & deif soal H ssarfai 3, 4,6 2
a1 38 fRe(A &1 afaAT3i &1 s{aTa 2IM-
A) 3:4:6

: - |(B) 4:3:2
o C) 3:4:) Ab
(D) None
%}QK‘ - : L}«L‘ R 4 Q
2 ?f - 75 . € A = Lybix

€y
‘\
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65. In a triangle two altiude are 4 cm and 12
cm respectively and all the altitudes are

|integrers. What could be ::;e/@rgest

‘possible length of the third altitude?
v A A A &3 4 cm 3T 12 cm 21 Faf

mgﬂ‘mtneﬂa@mﬁmm
ATd He ‘

(D)3
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'

66. In AABC, 4A = 52° and O is the
orthocentre of the triangle (BO and CO
meet AC and AB at E end F respectively
hen produced). If the bi- sector of LOBC
and <OCB meet at P, then the measure of
BPC is:
AABC &, A = 52° 312 va Ao &1 &a &ap 21
BOMRZCOTa BN ENMRFUZACTE AB A
¢ a3 ey fan airan 2)1af? coec
MR coceHBRadpRASALE A BPCE:

zAg ‘240 A \QO o L(\ A R

B)132° 3)/

C)138°
Ll
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N
67.HAO0 = 8cmand 0D S(‘m-::—‘: -;ﬂndthovoiuoof
OF’
e
af2 A0 = s &M 3z op = 5 AM — - - A ok A HA
g o C
AOROD - R
N, '
w1 e ",fv\/ (B)2 -
QW = Ix*™ X
xt - . -
3 © 3
X = Q [Re

v (D) None
3
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6B.HAO=8Bcmand OD =5cm find BD-DC =
? af2 A0 = 8 @AMt 3012 oD = 5 At ¢ &t BD-DC

Zom

" m/

e , ' ' y )
/ !
ANJ » '
>

r » " i
/ | A (A \9vn *‘J/
l/ . '
/'/ : ‘
. —

i
n . ; (N A
8 Qo-a Q AT R Acd
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69.1f AABC and AD L BC,Pis pointof AD if AB
=16cm AC=15cm, CP=12cm is BP?

af? fAsfst ABC 31 AD L BC, P fdsg U2 2 @t AD
wRAB=16 A Ac=15AMfcep=128f ¢ A

S ElV]
B)\v7

(€) 47

EB“"C’I;I\(,“‘-QP‘—‘ (D)b\7

RTE+ 14y = Qas + BPY
A J

s
hoo =35 4+Re* BP: AT %1
i ol &=~ s




70. AABC is right angle triangle where £ABC

~J. qv\? _ﬁ/ = 90° and BN is perpendicular to AC. Here,
AB=6cm. AC =10 cm. then find BN?

L AABC U Ha®Iv R ¢ A LaBC = 90° 2
= T BN, AC U2 &34 21 38A AB = 6 Al AC =

Ny © 10 A, 2, 3t BN fasaan gom 2
N \ A)3.4 .
b/\ I O X . o
R

(D)4.4
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71. C is the mid point of AB and <BAD is

equal to £CBE and £ECA is equal to <DCB. If
<E = 30°, Find D.

af? ¢, AB &1 #eg 2 32 .BAD, .CBE &
312 LECA, .DCB & ?;gfaz BIPR ZE=30°¢. @
LD =?

(A) 60°
(B) 15°
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72. The sides of a triangle are 4 cm, 8 cm
@ and 10 cm. Find the length of the shortest
\ | side of similar triangle whose longest side is
\'e \ ,/ \ .. 15cm? .
\. U R & are 4 Aaft, 8 Aaft 3z 10 a:%u
\ 38 AU Rafe H FaA o1l ofon &= 2,
fAadt Faad St oo s Aaft 2
(A)dcm|/
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73.Ingiven figure AD=6cm, AP=BP=3cm,
ZAPC = /BPD and 4DAP = LEBP then find BC?
23 A A3 & AD = 6 At AP = BP = 3 M,
(APC = /BPD 312 .DAP = EBP £, &l BC &1
AT Ara HifAA ?
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74. D is a point on side BC of AABC such that
ADIBC. E is a point on AD for which AE: ED =
5: L i 4BAD = 30° and tan £ACB = 6 tan DBE
then ZACB is?

fAsf aaBc Hl amec RorH e AT R, &
AD, 3T BC UZ &34 £1 E, AD U2 Us faw ¢ 32
AE : ED = 5:1 2132 .BAD = 30° 312 tan LACB =
6 tan .DBEEl, @1 LACB=?

(A) 45°

: " oo {O\({\OZ-_P_, —
D) 90°




f-

75. In a triangle ABC, AD is perpendicular on
side BC. E is the foot of perpendicular on
side AC from vertx B. AD and BE intersect
each other at point O. If AC = BO then find
LABC?

fRatc1 ABC & AD BC UZ &4 2! AC U2
qﬁ:ﬂﬂmwﬁgmmtl AD 312 BE US

fasg o w2 wfdwdz ®7a ¥1afk Ac =8O
& LABC &1 AT Fra HifAd 2
A) 30° ¢

A £
) o A
(ho-B3) Oelas=— %
C) 60° R @ it

(D) 90°




A \ 76. AD is perpendicular to the internal

Maths By Pradeep Sit

bisector of ABC of triangle ABC. DE is drawn
, through D and paraliel to BC to meet AC at
| @ E. If the length of AC is 12cm. then the length

'S of AE (incm) is.
AD fA3( ABC & . ABC & Hiafl® fRamis &1
© &d 2] DE, D & B1&2 3 BC & HATaZ Tl
wran ¢ fAaA Ac &1 £ w2 A @& afk ac $

” S g’aﬂﬁumﬁ.ta}nﬁm(mﬁ.ﬂ)m
A) 4 B)3 y S\ \
&( 50; 8 /L "
. WANER ¥
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' 77. Vertex angles of two isoscles triangles
are equal. If ratio of their height is 3: 4, find
‘ A the ratio of their perimeter-
aaaf?,argfaqvﬁas efd o1 o= 21 af
Il FArzal &1 WU 3 : 4 ¢ A IS gfRkaTar
&1 H[UTd M-
(A) 6:8 (B) 4:3
(c) 9:16 [ (D) 3:4 |

\l ),\J \4

P F = 3.\
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79. In the given figure, if = = = and PY = 18 cm,
Y 9

then what is the value (incm ) of PQ ?

Aanplad aR < - “aurpy - 13 M. A A

9

o A1 “A ,  rQ@EIaE (A ) Fme?
F:?D R o’ 4 FJ“ ;o 'S/A,),z-g \L_
(B)18
\
L. PO (C)2

(Po : ‘i%& (D) 24
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P;’, 81. In the given figure. if AD =12 cm, AE= 8
® cm and EC = 14 cm, then what is the value
|2 S % cm) of BD?
PP € g snpfad A, af? Ap =12 A1, A = 8 A,
e a1 EC = 14 A, 2, A BD @1 = (A, A) F=m
D L~ ta
Y
A (A) 50/3
ABE ~ AE [(c)8/3 :
185 v ae3 (o) a4/
A ,‘ & 4~ L-'1 W\ =Y
—— ;;,J : - e [ﬁj
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NAABE ~ A Por 83.Let A ABC ~A QPRand ~ :3; —. i AB = 12
! ) - " 1]
cm, BC = 6 cm and AC = 9 cm, then QP is equal to:
Frros, ) 16
AT 4 ABC ~A QPR 3~ == ~21af2 AB
Shola 3 Y
1Z2em BC=6cmMZAC=9cm e AoraTTaR 2
: 2 (A) 16 ecm (B)9ecm
pa (C)12em (D) 8ecm
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S
— AD 5 €0 3 BO

88. In the given figure

OF 4 0D : OF
Reefad=-- = --¢
Of s OD &

(@)
(A) =
(8)

(c) <

(o)~

r
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89. In AABC, point O is intersection of AB, BE
and CF it divides AD in 4: 3. Iif area of BOD
and DOC are 26 cm?® and 13 cm?®. Find the
area of AABC
fAs[ ABc &, fAsg O, AB, BE 312 CF &1 BT
g;tuz AD ! 4: 3 ya(ura & RanfAa
¢, af? fAsf oD 302 DoC &1 HAGS
ek 26 33 A, 2, @ AABC & HAGS
Sira HifAA

(A) 52cm?
B)56cm?
C)S54cm?

(D Nonﬂ
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90. In the given figure 0 is in-center of 2. ABC and if

AD 7 €0 - BO

—_—e ez =-ON—==7

0O} S OD ’ OF

aRMAfRAHo, cascH IEBREMR S = - = = -
¢, @ 2 @1 ara A S

(A)=

(@)% |

(€)=
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A '
. @, 1. In the given figure % -, = - then find the value of
2 i CE y

FA
ﬁvmﬁai;‘—; & - it,a}}i‘mmmﬁﬁv?

s M

|nthogwonﬁgun(—‘; ;"—'- " then find the volucot‘:—"
Resefad= - - = ta‘t{‘)’,’mmmzﬂﬁz}
21 '
(A),-Q (8)5
()5 (D) None
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O 93. AD is the median of A ABC if AO: OD=5:3
( find the AE: EC.

g
B




94.In the given figure AG:GD =3:4,BD: DC =
@ € 4:7, AE = 24 cm then find the length of CE.

/m( RAMA AT A AGGD =3:4, BD: DC 4: 7, AE =
¢ Y . 24 @M, A ce A HfAA
@Q_5 1 ®  (A)44em

ﬁ"f—(:k LEY(B)BGNV\}
3 1 3 (C)B‘Cfﬂ

8 (D) 85cm
s
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T & 3 Al

\ 95. In the given figure == = 2 = - Z then find the value of

_ ‘D S B
7/ : 10

(e G® =

o Remefadis . i} @,

(B s ( C) OF
= Yex]
ﬂl,_ ® - (::);

—rj{- ; 0 (D) None
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) 97. In the given figure AP=6cm, CP =5cm,
PD=2cmPE=Icmand PF=3cmthenBP =

% cRefRAaAaAr=6cAM. cPr=53l., PD =
28M. . PE=1cm @M., 3T PF =32 al BP &I
AT ATa HIfAA 2

. (A)S5cm




98. In AABC, AO: OE=5: 4, CO: OD = 3:2 then
find BO:OF=7?

af2 A3 AABC, AO: OE =5:4,C0O: 0D = 3:2 2,
al BO : OF Sita HifAd »
(A) 38:7

(B) 36:7

(C) 29:4

(D) 4:7
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99. In the given figure 0 is in-center of /A ABC

ondlf‘—‘: O  lthenZorgRmARAaHNon

s 0P 3 OF
ABC 1 doa:dow & 3 ;% 3, 2 w1 v
Sra HIfAA
OF OF

(€)= = (D) None

.1




21T aley

L) = 25 DA ltanate moye

{2 = Z¢ C¥) ~ @)

€3 = 4¢3 Ly - ¢g
<Y = LB /3-¢s

(2 4L6= 1%
LY+ 5= (Ro
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a Ca . 101. In the given diagram AB || GH || DE and
V
80 GF || BD || HI, .FGC = 80°. Find the value of
3 ¢CHI. e e 3 A T AB || GH || DE 312 GF ||
. of o BD |l HI, .FGC = 80° , &l LCHI &1 &l ST
C )
+ | (a)so°
Qo
(B) 120°
4 J

c (C)100°
(D) 160°
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102. In the adjoining figure, a star is shown.
What is the sum of the angles A, B, C, D and

ﬁemﬁaiamf%ammmta’tmtx, B, C,
D 3112 £ &1 31 A1d A

(A) 120°

B) 180°

(C) 240°
(D) Can't be determined




103. In the figure find x. x &1 #AT ATd &2

Maths By Pradeep Sir

(B) 50°
(C) 45° .
A —— (D) 30°
- \0S
O . —
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104. In the figure find x. x &1 #ATa JATd &2}

‘3\ ’ (A) No°

L
el

|30 (C)105°
A Q' ) )L (D) 90°

“ -
S .
' ~
—— ’ ~
i 06 .
o
—
——
— .
. .
N \
.
~— ~
~ .
— “~
o~ -
— d "
30 A
o “
T »
- »
~

(=
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105. In the given figure PQ is paraliel to RS, <
AEF = 95° /«BHS = 110°, and £ABC = x°. Then

whatis the value of x ?
f2u 1T IRE A PQ, RS A JATAZ £, LAEF = 95°

(BHS =M0° M LABC = x° . A xBITATATATE ?
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106. In the figure find x and y.
X, y @1 HATS JATd &2
(A) 40°,95°
= (B) 55°,95°

Uo

 |(C) 95°,40°

(D) 90°,45°
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107. In the given figure lines AP and 0Q
intersect at G. f LAGO + /PGF = 70° and
(PGQ = 40°, Find the angle value of LPGF.
22 a2 A3 & ap 30 0q, 6 fisy W ®rA ¢
T LAGO + LPGF = 70° 2 .PGQ = 40° A1 A
(PGF W1 AT STd &2
YKL (B) 40°
186 (¢) 60° (D)30°

A A
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108. Find the values of x and y?
x 32 y &1 AT SATd B

(B) 65°,70°
(C) 50°,72°
(D) 72°,50°
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109. Find the values of x and y?
x 31T y &1 AT FATd B

(A) 60°,100°
(B) 65°,105°

(D) 100°,105°




Maths By Pradeep Sir

N0. Find the values of x and y?
x 31T y &1 AT FATd B
J>>95 (A)75°,90°

/95 P —
RS 4\ (B) 90°.75
f
Y0 (D) 95°,70°
)
Nty
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1. Find the values of x, yand 2 ? x, y 312 2 &1
AT ATd B

(A) 127°,50°, 50°
(B) 130°,50°, 50°
(C) 120°,50°, 50°

(D) 50°, 50°, 130°

—




Maths By Pradeep Sir

N2. Find the values of x ?
5 x &1 ATHA ATd He |
(A) 50°

\((c) 45°
So A (D) 60°

N\

| 30

e —




Maths By Pradeep Sir

3. Find the values of x ? x &1 AT FATd &< |
A) 120°
(B) 105°
(C)125°
(D) 100°
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4. Find the values of x ? x &1 #ATa JATd &2
C (A) 75°

(B) 60°
(C) 45°

L
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5. Find the values of x and y?
x 32 y &1 AT SATd B
(B) 87°,1n5°

(C) 81°,121°

(D) 73°,105°

| 8o

W o




Maths By Pradeep Sir

6. Find the values of x and y?
x 3T y &1 AT FATd B
(A) 71°,32°
(C) 69°,31°
(D) 72°,31°
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N7.Find the values of x ?

x &1 ATHA ATd He |
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N8. Find the values of x ?
x &1 AT ATd B
(A) 79°

—(B) 81°

(C) 89°
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323 9. Find the values of x ?
x &1 ATHA ATd He |

.
xSk
il >

(B) 141°
(C)143°
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120. In the fig given below PQIIRS||ITUlIVW, PR
=1I0cMm, RT=22cm, TV=16cm, QW =42cm
then find QS?

fRe se @3 A, PQlIrRSIITUlIVW, 3T PR = 10

cm, HAI RT = 22 cm, Al TV = 16cm, HAl
QW= 42 cm AT QS &1 AT ATd el

(A) 15 em

(C) 22.5¢m (D)12.5cm
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121. In the given fig AB |ICDJ|| EFJIGH, if BH =
BEcMAC=21cm, CE=12cm, QR =18 cm
and RS = 21 cm find the value of EG + PQ +
DF? f2e J1e @ & AB lICDI| EFIIGH 3T BH =
188 cm, VAT AC = 21 cm, AT CE = 12cm, Al
QR = 18 cm ¥WAT RS = 21 cm, EG + PQ + DF &1

AT ATd B ?
(A) 91.5 (B) 93.5
(C) 97.5 (D) 99.5
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122. In the given fig below AB ||CDJ| EF, if AB = 30

Al 3 \ B 3
; cm. EF = 50 cm, AC = CE and BD is x cm less
2 than DF then find CD = ? &I v e faa & As ||
CD || F Tf2 3T AB = 30 cm HZHATEF = 50 cm,
4 AC = CE, W1 BD, 31 DF & x Al & 21 a@ afon
g r CD &1 ATt T EPN ?
/ ,aﬁo“go 270 293
702 ‘%"cm

(C) = cm (D) 300 cm

7
’






123. In the given figure O is the centre of the
circle. AC = BC and £AOB = 120°, then find
the value of £.CAO.

22 312 @7 A g &1 o 21 AC = BC TAUT LAOB

=lzo°z’iahcma§rmzbn-

Maths By Pradeep Sir




124. In the given figure O is the centre of the
circle. 2 OAB + 2 OBA =100°, find the value of
LCAB + LCBA.
22 A A A g &1 S 21 LOAB + LOBA =
100° 1 @t LCAB + LCBA &1 AT EM-
(A) 50°
(C) 60°

R (D) 55°

Maths By Pradeep Sii
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125. In the given figure O is the centre of the

circle, then find the value of £4BCO.

22 A A= A ga & e ¢, A .8cO & A
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126. AB is diameter of the semi-circle. Find
the value of BDC.
21 2.BDC &1 AT~
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127. In the given figure, if ZAOP = 75° and
LAOB = 120° then what is the value of
(AQP? Uz fRe e fAa &, af? LA0P = 75° 3R
LAOB = 120° &l LAQP %ﬂ'ﬂ!t ?

(A) 45°
CYEIA S
(C) 30° o
(D) 22.5°

@
5
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129. An equilateral triangle ABC and a scalene
D triangle DBC are inscribed in a circle on same
“side of the arc. What is 2BDC equal to ?
Us HAag A ABC 3 v fAwarag A pec
U gd A 919 & v § avw 3ifda fbv oma 81 «8pe
fFadsawaee?
(A) 30° (B) 45°
(C) 60° (D) 90°
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130. The centre of the circle which passes
through points A, Band C is O. If £/BAO =
30°, «4BCO = 40° and £AOC = x°. Then find
the value of x. @3l A, B @2 ¢ A oA a1
U® g &1 Sop ¢ AT LBAO = 30°, LBCO = 40°
T LAOC = x°, x BIATATATE ?

(A) 70° O

(C) 210° (D) 280°
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131. In the given figure O is the centre of the
circle and ABI|CD. If ZADC = 25°, then find
(AEB- A AgaEm ot aslico E
af2 .ADC = 25° 81, Al LAEB 1A HifAe-
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132. In the given figure O is the centre of the
circle. £.ROS = 44° and RO is the angle

(PRQ &1 HAMZHTAS RO T A LRTS BT AT~
(A) 46° (B) 64°
(C) 69° (D) 68°
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134. Inthegivenfigure, £ QRU=72° 2L TRS = 15°
and PSR = 95° then what is the value (in
degrees) of 2 PQR?
@ af nPpfad A, LQRU = 72°, LTRS = 15° FA
(PSR =95°2, At .PQREBT AT () AT 2 2
2\, ((a)ss ] (8) 95

' (C)75 | (D) 90
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135. In the above figure, YAX is the tangent
on a circle having centre O. If £BAX = 70°
and £ BAQ = 40°, then what is the value of
ZABQ?

gt A3 A, vax ga # as e ¢, wef
ou ¢ af? .BAX = 70° 3T LBAQ = 40° §, @
(ABQ fad aerae i »

(A) 20° [OELS x ’@/
(C) 35° (D) 40°
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136. Radius of two cocentric circle is 13 cm
and 8 cm. AB is the diameter of bigger circle
and BE is the tangent of smaller circle and
touches smaller circle at point D. Find the
length of AD.

2 Adeul gail & A HHe: 13 AM. Jon 8
aafl. 21 AB @2 gu &1 A ¢ J BE B2 gE U2
zuef?m!aenm%zgfaaﬁvo fasg uz el st
21 Ap & Faard sra ?

B) 19 Ja. %
30 . o
- e T

L

Jiog
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137. In the given figure O is the centre of the
circle. Line UTV is tangent to circle at T. VIR =
52° and PTR is an isoslece triangle such that TP
=TR.Whatisthe valueof x +y + 2?

fRe e fa & ga &1 v o 21 & uTv g 6 el

@ SHT T W R, LVTR = 52° 31 fAeA PTR S HATRaE
l%% Ry zaverEfE P =TRE-

g x+y+ afSaS TR e ?
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%a%%t PAB be a secant to a circle intersecting
the circle at A and B. Let PT be the tangent

segment. If PA = 9 cm and PT = 12 cm, then what
e PAxPS is AB equal to ?
1 v SAv paAB s ga 6 ve Bz 2an ot gu &)
A 32 B W2 wIedl {1 e SifGe pr el 2EEs
I A (EAz @A) iaRPAa=9cm iR PT=12em e @
A Q @ AB f&ad auraz »
) = I%x(9+x) (A)5cm (B)6cm

T‘\‘/’/" (Gtx) ‘jc) Tem (D) 9ecm
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T  140. A circle is inscribed in a quadrilateral ABCD
touching AB, BC, CD and AD at the points P, Q, R
¢ and S respectively, and 4B = 90°. Iif AD = 24 cm,
AB = 27 cm and DR = 6 cm, then what is the
circumference of the circle ?
P, Q R 312 s fAZ3i gz wHe: AB, BC, CD 31X AD &)
el 2 gv vs aqefal ABcD & oftaz ves gw
TN ATAT  dAT 4B = 90° 2132 AD 24 A, AB 27
A3 302 DR = 6 AaM &, A ga B R FaT 2 ?

A) 20n

(B) 18n o TLY
C)iSn

(D) 12n XY T

@)
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143. Two circles touch each other externally at
point P and AB is a common tangent which
touches them at point A and B respectively.
Find the value of £ APB.

2! g9 U T2 @) p e ue gy el 2 ¢ aen A
v Heht Jorafetes zael 2an ¢ ot 3 w#e: A aan e
fasg 3l uz zaef &zt 21 LAPB &1 FTa1 EY9TI-

) 45

(c) 8o° (D) 100°
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147. i PA and PB are tangents drawn to a circle

with centre O at A and B from external point P
\/J such that £ APB = 78° then LOAB is equal to:
H' afd pa 32 pe aTg] AT P A &7 1S ga & AT A 32
/ B Gz ot orf zqel 2o € M s v ¢ & cAPB =
78° ¢, @ LOAB &1 AT 1A B2
(A)12° (B) 29°

(C)39° (D) 36°




f-

148. From an external point A, two tangents AB
and AC have been drawn to a circle touching
the circle at B and C respectively. P and Q are
points on AB and AC respectively such that PQ
touches the circleatR.fAB=1lcm, AP =7cm
and AQ = 9 cm, then find the length of PQ (in

cm).
US 99 U2 A A 2 zyef 2ae A 32 AC
mﬁw:.';?ﬁaz 8 32 c w2 gu & el
wdt 21 AB 32 Ac Uz @2 p 32 Q BHLL: TH USR
fRa ¥ & pq ga &) g r oz el ®zaft 213 A =
Nem, AP=7cm T AQ = 9em £ at pQ &t Fard
At A) sma &)

?a;a

D)5

(o

- Y =
_-
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149. In the figure below, rectangle ABCD Iis
inscribed in the circle with centre with centre at

O. The length of side AB is greater than side BC.
The ratio of the area of the circle to the area of
the rectangle ABCD is 1 :y 3. The line segment DE
intersects AB at E such that the <ODC = £ ADE.
The ratio AE: AD is f@l@st @3 & va 3maa asco
fA@®1 &aw 0 21 oot AB 6 Haard s BC A
21 39 & 7SS a1 WTd & TGS BT He{ITd n ;
z?:?ar&wz DE, AB B! E W2 38 aeg Sreal £ &
£ODC = £ADE Al AE: AD &1 Ha[UTa &1 9N ?
(A) 122
$8)|:\3

C)12
(D) L2v2
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150. Two circles, each of which passes through
the centre of the other, intersects at points M
and N. A line from M intersects the circle at K
and L, as illustrated in figure. If KL = 6 cm, com~
pute the area of AKLN.

2! §9 UH-3aR & dop A Qe EAMaAdN
wq;mz%uawfw?mwmx
aen L w2 f@sdl 21 af2 ki = 6 Aaft @t Aot kN &1
TGS AT |

(A) 6v3 cm?
(B) 9v3 cm?
(C)=V3 cm?
(D) 8V3 cm?




151 In the given figure, PQRS is a square whose
side is 8 cm. PQS and QPR are two quadrants. A
circle is placed touching both the Quadrants
and the square as shown in the figure. What is
the radius of the circle?

& orf 3l A, pQrs v 31 § At apon 8 Ak,
4 msamqpnqatil?zfmllm gad
arall aqel amn den & &1 el &2 S
wipfd Azefammigas Amamg?

(A)1/2
%a) /4
o .

(D)1
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152. In the given figure, PT is a common tangent

to three circles at points A, B and C respectively.

The radius of the small, medium and large

circlesisdcm,6cmand 9cm. O, O; and O, are

the centre of the three circles. What is the value
incm) of PC?

g snpfa A, pr e gaitf w2 fte Al saver: A,
B @1 C U2 Jyufales of 2am 1 ©I2, ;e aen
HaA a3 3ol &1 A 4 Jft. 6 Aft. vd 9 AL 10,
0. a1 o,, dtall gl & &aw T pC BT 1A (A, A)
Faqe?
(A) 18V6
(B) 9v6
(C) 246
(D) 15V6
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153. Two chords 20 and 2b of a circle are
perpendicular to each other at a point they meet. if
the distance between the centre of circle to this
point is ¢ (c « radius of circle) then what is radius of
circle.

ﬁzo mzbmﬁaMQa}wg?zw
G lal g é‘uﬁq’at a
fag qﬁt(c« fAvm) Agas A

a“+b* +q
(AJa+b +c¢ (B)
\ ‘
al ol ol alebd ool

(C) (D)

& “ )
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154. In the given figure, MNOP is a square of side

6 cm. What is the value (in cm) of radius of

circle? & 3¢ 3npfa A mnor, 6 AM. oo a1 v
Pffigad A s s (AR A) =g

(A) 4.25
(B) 3.75
(D) 4.55
(SR
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155. In the given diagram. radius of larger circle
is 5 cm and an another circle touch larger circle
at point P and passes through it center O.PS is
chord of larger circle which cuts. Smaller circle
at point R. if OR is equals to 4cm then find the

PS.
fRasEr R el A s aanzAvs SlIga P
uzm:mafq;zmtlaznmmaqm;?tl
ﬁm;%mqamnwm?ﬂtlonzuma’tsp
STa B




156. In the given figure, CD and AB are diameters of
circle and AB and CD are perpendicular to each
other. LQ and SR are perpendiculars to AB and CD
respectivety. Radius of circle is 5 cm, PB: PA-2:3and
CN:ND=2:3. What is the length (in cm) of SM?

& orf npfad A co den AB §9 & TTA § a1 AB FAT CD
U A UZ &34 21 LQ AT SR BHLL: AB AT CD W &
PFE S AT s A2, PB:PA2: 3FMCN:ND = 223 B!
sMmBlsaad (AN A aw e
(A)I(S5v3) - 3]

(B) |(4y3) - 2]

(C) 1(2v5) - 1]

(D) (2v6) 1]
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157. In the figure below, a circle is inscribed
inside a square. In the gap between the circle
and the square (at the corner) a rectangle
measuring 20 cm. x 10 cm. is drawn such that
the corner A of the rectangle is also a point on
the circum-~ ference of the circle. What is the
radius of the circleincm. ?

22 s A= & 3maa AQPr (20 = 10) & & A
ABCD & 3iafa gua & A sma & ?
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158. In the given figures AD is a straight line. OP

is perpendicular to line AD and O is the centre of
both the circles. fOA=20cm, OB =15 cm and

OP = 12 cm, then what is the length of AB? 3U¢
fRe a1 3 & AD &T® 260 €, OP 2 AD U2 &34 ¢
IRAA g ST S g1aR oa=20AM. o =15
At sz op =123, At A Bl s fBaaft ¢ 2
(A) 7em (B)8cm

(C)10ecm (D)12em
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159. D, E and Fare the feet of the perpendiculars
from the vertices A, B and C. respectively, of a
triangle ABC. if angle BED and angle BFE in
degrees) are 24 and 10. respectively, what is
the measure (in degrees) of angle EBF?
mﬁqamciegm B3MRRCA®BHA:D, EMTF
&da & iz ) af? Sor gep 3 Sy Bre (302 A)
BH2A: 24° R N0° T, A ST EBF BT AT (32 A)
f&aan g ?

(A) 55 (B) 67

(C) 46 (D) 86
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160. The sum of the internal angles of a regular
polygon is 1440°. The number of sides is:

USE AAAEHA & dialks Sl &1 a1 1440° R
o3l & iz fdasft ¢ »

(A) 12

(B)6

(C)8

(D)0
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161. The ratio of sides of two regular polygon are
I: 2 and the ratio of their internal angle is 2: 3,
what are the number of sides of both regular

polygon.

A FRell B aonall & wFwa 12 ¢ R IaS
yiafts Sol & da &1 ysara 23 21 ARk 35 A&
agITon &Y oo 3t &t Hwm wHer: fFaaf g 2

(A) 6,12 (8) 5,10

(C)as (EAL
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162. ¥ number of diagonals of any regular
polygon is 14, then value of each interior angle

of polygen is.
af? faft awagem A Aol $ w4 §, @ 5

TEHA & TAS HToded HIVT BT ATA 19N ?
(A) 120

(B) 128

(C) 135>

(D) 140




163. ¥ the measure of each exterior angle of a

Maths By Pradeep Sii

regular polygon is (512) , then the ratio of the
number of its diagonals to the number of its sides is:

US TAA-TEHA S TAS A S S 719 (51-) 2zAS
fAwol $ @z 32 zad! sl & JEm &1 seqaTa F
g?

(A) 5:2

(B)13:6

(FER

(D) 221



164. If each interior angle of a regular polygon is

1128 -f- | , then what is the sum of the number of
its diagonals and the number of its sides ? af2

faft vages &1 vlls wiafds stor(1282) ¢ @
I8 Ao $ dam e 37 ool H Jwm &
arEge?

A)15

B)19

c)

(D) 2
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164 ABCD is a trapezium where AD | BC. The diagonal
AC and BD intersect each other at the point 0. Iif AD
3.CO=x~3,D0 = 3x - 19and BO = x - 5, the value of

Maths By Pradeep Sii

x is-

ABCD U™ J#eaa 2, fAad ap |l ec 21 @@l ac iz 8D
rS-ER SRR war seafiagR A0=3,co=x-
3,00=3x-19 ¥R BO=x 5, A xHBTHAATME ?

(A)-8,-9

(B)8,9

(C)-8,9

(D)8, -9
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166. if ABCDEF is a regular hexagon, then what is
the value (in degrees) of LADB?

af?2 ABCDEF US® HAUTHA ¢, @l LADB &1 A&
(Ref) Awm e

(A)15

(B) 30

(C) 45

(D) 60
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167. In the adjoining figure there are two
congruent regular hexagons with side 6 cm. 12

g anpfad A 2 Fafras 2o 2 uds &t oo 6 2

What is the ratio of area of ABDF and APQR, if P,
Q and R are the mid points of side AF, BC and
DE?

da! a3l ABDF : APQR & TGS &1 aan
EI9, AAET P, Q, R T5H2l: DE, AF, BC & #tl g?
(A; 6:5 za) 7:6

(C) 4:3 D) 1)
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168. In a figure AE = BC and AE || BC and length of
AB, CD and ED are same then if £A = 102°, 4BCD
=7?

f2e sre f@a A AE = BC a1 AE || BC o diar ofone
AB, CD @21 eD Farg A
&1 ATA ATd B

(A) 138°

(B) 162°

(C) 88°

(D) o A Ffl
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169. An equilateral triangle of area 300 cm*® is

cut from its three vertices to form a regular
hexagon. Area of hexagon is what percent of
the area of triangle?

vs Fwag R Pas daws 300 a2 ¢, &
I8& dia oftal &) v FauTHw aaat & AT &
AT 21 UZHA BT ATAGS [AHA & AT BT fFaen

ufderag?
(A) 66.66% (B) 33.33%
(C) 83.33% (D) 56.41%



